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202 0o4dl 10,750 10,750
01 =LHNHI 10,750 10,750
Ozt 10,750,000 10,750
203 =4l 37,640 28,860 8,780
01 J 22 R=AH] 9,000 9,000 0
O2AMEHE 9,000,000 9,000
02 SRIHAA =T 6,080 5,520 560
Ogart=a 80,000& *76H 6,080
M EAEgER=A 22,560 14,340 8,220
Oogggaa 430,000 x 122 5,160
OsEggad 250,000 * 122 3,000
Ooggddggas 300,000 * 122 3,600
OdEa 10,800
o HIXXI, BBEXN, AEHE, WFH2F
o 175,000 x40 & 22 2 &+ 123 8,400
0232g SEAEEL
100,000& 20 & 221 2 &l x 122 2,400
204 MPo-HAH| 45,600 37,200 8,400
01 MG HI=HAHH| 45,600 37,200 8,400
O2AAMRHE 650,000 * 122 7,800
OHIMaE, g8, d=292
350,000 9 12& 37,800




